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‘A, Tind the elgenvalues and ewenvectors of the matrix

73 02 =37
A=-11.5 1.0 5.5
177 18 =93

B. Diagonalize the matrix 4 and show the detail of your work.

Solve the followmg, .non-homogeneous linear ¢ ordmary differential equatmn
(ODE)

¥’y -3x +3y =xlnx

s R 3
Solve the followmg wnitial wvalue problems (IVP) by using the Laplace
Transformation.

' Hdx=2)y=4y=0, p0)=1 y'(0)=0

Find the Fourier transform of the following function by using the dEﬁI]ltlDIl,
SN =F@)=—r=| Sflx)e™"dx
Jz; -[—ou 2

—a|x
fx)=e i where 4 is a positive real number.

Find the followmg.
A. (3%) The curl of the gradient of f Vx{Vf(x,»,2)).

B. (5%) The divergence of the curl of ¥, V-(Vx#(x,y,2)}.
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